



AHMAD IBRAHIM KULLIYYAH OF LAWS (AIKOL)

PROGRAM NATIONALITY DURATION INTAKE : MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME

Type of Fees	MALAYSIA RINGGIT (MYR)		
	Coursework	Research	Mixed Mode
	40 Credit Hours (Actual credit hours to be determined by Kulliyyah)	10 Credit Hours (Actual credit hours to be determined by Kulliyyah)	30 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)
Entrance	1,490.00	1,490.00	1,490.00
		4,860.00	14,580.00
Tuition (Research)	JITION FEE SCOUNT - DI		SCOUNT 8,775.00
Recurrent	3,840.00	3,840.00	3,840.00
Takaful	1,000.00	1,000.00	1,000.00
Evaluation Fee	•	2,200.00	2,200.00
Graduation	250.00	250.00	250.00
TOTAL	25,870.00	31,190.00	32,135.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF ECONOMICS AND MANAGEMENT SCIENCES (KENMS)

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME

	MALAYSIA RINGGIT (MYR)		
Type of Food	Coursework	Research	Mixed Mode
Type of Fees	42 Credit Hours (Actual credit hours to be determined by Kulliyyah)	(Actual credit hours to be determined by Kulliyyah)	24 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)
Entrance	1,490.00	1,490.00	1,490.00
-		7/0	11,340.00
Tuition (Research)	JITION FEE ISCOUNT - DI	SCOUNT 17,280.00	SCOUNT 8,640.00
Recurrent	3,840.00	3,840.00	3,840.00
Takaful	1,000.00	1,000.00	1,000.00
Evaluation Fee	-	2,200.00	2,200.00
Graduation	250.00	250.00	250.00
TOTAL	26,425.00	26,060.00	28,760.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF INFORMATION AND COMMUNICATION TECHNOLOGY (KICT) – MPSM

PROGRAM NATIONALITY DURATION INTAKE : MASTER OF PROTECTIVE SECURITY MANAGEMENT (MPSM)

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition	500.00	40 Credit Hours	20,000.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			26,580.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EzPAY PORTAL







KULLIYYAH OF INFORMATION AND COMMUNICATION TECHNOLOGY (KICT) – MBIA

PROGRAM NATIONALITY DURATION INTAKE : MASTER OF BUSINESS INTELLIGENCE AND ANALYTIC (MBIA)

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition	600.00	40 Credit Hours	24,000.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			30,580.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF INFORMATION AND COMMUNICATION TECHNOLOGY (KICT) – OTHERS

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE : INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME

	MALAYSIA RINGGIT (MYR)		
Type of Food	Coursework	Research	Mixed Mode
Type of Fees	40 Credit Hours (Actual credit hours to be determined by Kulliyyah)	6 Credit Hours (Actual credit hours to be determined by Kulliyyah)	28 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)
Entrance	1,490.00	1,490.00	1,490.00
-			13,230.00
Tuition (Research)	JITION FEE ISCOUNT - DI	SCOUNT 19,440.00	9,720.00
Recurrent	3,840.00	3,840.00	3,840.00
Takaful	1,000.00	1,000.00	1,000.00
Evaluation Fee	-	2,200.00	2,200.00
Graduation	250.00	250.00	250.00
TOTAL	25,480.00	30,055.00	31,730.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







ABDULHAMID ABUSULAYMAN KULLIYYAH OF ISLAMIC REVEALED KNOWLEDGE AND HUMAN SCIENCES (AHAS KIRKHS) – OTHERS

PROGRAM : MASTER DEGREE

NATIONALITY : INTERNATIONAL & PERMANENT RESIDENT

DURATION : 2 YEARS (4 SEMESTERS)

INTAKE : SEMESTER 1, 2024/2025 ONWARDS

FULL TIME

	MALAYSIA RINGGIT (MYR)			
Type of Food	Coursework	Research	Mixed Mode	
Type of Fees	40 Credit Hours (Actual credit hours to be determined by Kulliyyah)	(Actual credit hours to be determined by Kulliyyah)	25 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	1,490.00	1,490.00	
-		FTER 10	10,125.00	
Tuition (Research)			SCOUNT 8,100.00	
Recurrent	3,840.00	3,840.00	3,840.00	
Takaful	1,000.00	1,000.00	1,000.00	
Evaluation Fee	-	2,200.00	2,200.00	
Graduation	250.00	250.00	250.00	
TOTAL	22,780.00	24,980.00	27,005.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







ABDULHAMID ABUSULAYMAN KULLIYYAH OF ISLAMIC REVEALED KNOWLEDGE AND HUMAN SCIENCES (AHAS KIRKHS) – MDP

PROGRAM : MASTER OF DEVELOPMENT PSYCHOLOGY (MDP)
NATIONALITY : INTERNATIONAL & PERMANENT RESIDENT

DURATION : 2 YEARS (4 SEMESTERS)

INTAKE : SEMESTER 1, 2024/2025 ONWARDS

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition	320.00	42 Credit Hours	13,440.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			20,020.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







ABDULHAMID ABUSULAYMAN KULLIYYAH OF ISLAMIC REVEALED KNOWLEDGE AND HUMAN SCIENCES (AHAS KIRKHS) – MIOP

PROGRAM : MASTER OF INDUSTRIAL & ORGANISATIONAL

PSYCHOLOGY (MIOP)

NATIONALITY : INTERNATIONAL & PERMANENT RESIDENT

DURATION : 2 YEARS (4 SEMESTERS)

INTAKE : SEMESTER 1, 2024/2025 ONWARDS

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition	600.00	48 Credit Hours	28,800.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			35,380.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







ABDULHAMID ABUSULAYMAN KULLIYYAH OF ISLAMIC REVEALED KNOWLEDGE AND HUMAN SCIENCES (AHAS KIRKHS) - MASPY (Clinical)

: MASTER OF HUMAN SCIENCE PSYCHOLOGY (Clinical) PROGRAM NATIONALITY **INTERNATIONAL & PERMANENT RESIDENT**

DURATION : 2 YEARS (4 SEMESTERS)

INTAKE : SEMESTER 1, 2024/2025 ONWARDS

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition	1,000.00	40 Credit Hours	40,000.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			46,580.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - From the first day up to the first month. – 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - After the second month of the semester. - No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF EDUCATION (KOED)

PROGRAM NATIONALITY DURATION INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME

	MALAYSIA RINGGIT (MYR)		
Type of Food	Coursework	Research	Mixed Mode
Type of Fees	42 Credit Hours (Actual credit hours to be determined by Kulliyyah)	9 Credit Hours (Actual credit hours to be determined by Kulliyyah)	30 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)
Entrance	1,490.00	1,490.00	1,490.00
Tuition (Coursework)			14,175.00
Tuition (Research)	JITION FEE ISCOUNT - DI	SCOUNT 17,280.00	SCOUNT 8,640.00
Recurrent	3,840.00	3,840.00	3,840.00
Takaful	1,000.00	1,000.00	1,000.00
Evaluation Fee	-	2,200.00	2,200.00
Graduation	250.00	250.00	250.00
TOTAL	26,425.00	30,332.50	31,595.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF SUSTAINABLE TOURISM AND CONTEMPORARY LANGUAGES

PROGRAM NATIONALITY DURATION INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (MIX-MODE)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition (Coursework)	405.00	30 Credit Hours	12,150.00	
Tuition (Research)	4,050.00	2 Semesters	8,100.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Evaluation Fee	2,200.00	One-time Fee	2,200.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			29,030.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF ENGINEERING (KOE)

PROGRAM NATIONALITY DURATION INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME

	MALAYSIA RINGGIT (MYR)		
Type of Food	Coursework	Research	Mixed Mode
Type of Fees	42 Credit Hours (Actual credit hours to be determined by Kulliyyah)	5 Credit Hours (Actual credit hours to be determined by Kulliyyah)	20 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)
Entrance	1,490.00	1,490.00	1,490.00
			12,150.00
Tuition (Research)	JITION FEE ISCOUNT - DI	SCOUNT 20,520.00	10,260.00
Recurrent	3,840.00	3,840.00	3,840.00
Bench Fee	-	4,000.00	2,000.00
Takaful	1,000.00	1,000.00	1,000.00
Evaluation Fee	2,200.00	2,200.00	2,200.00
Graduation	250.00	250.00	250.00
TOTAL	34,295.00	36,337.50	33,190.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF ARCHITECTURE AND ENVIROMENTAL DESIGN (KAED) – MAAR

PROGRAM NATIONALITY DURATION INTAKE : MASTER OF ARCHITECTURE (MAAR) : INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition	JITION FEE 567.00	63 Credit Hours	35,721.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			42,301.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF ARCHITECTURE AND ENVIROMENTAL DESIGN (KAED) – OTHERS

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Coursework	Research	Mixed Mode
	42 Credit Hours (Actual credit hours to be determined by Kulliyyah)	(Actual credit hours to be determined by Kulliyyah)	30 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)
Entrance	1,490.00	1,490.00	1,490.00
-		FTER 10	17,010.00
Tuition (Research)			JITION FEE SCOUNT 10,125.00
Recurrent	3,840.00	3,840.00	3,840.00
Takaful	1,000.00	1,000.00	1,000.00
Evaluation Fee	•	2,200.00	2,200.00
Graduation	250.00	250.00	250.00
TOTAL	30,394.00	29,030.00	35,915.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF PHARMACY (KOP) – INDUSTRIAL PHARMACY

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER OF SCIENCE (INDUSTRIAL PHARMACY) : INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition	1,450.00	42 Credit Hours	60,900.00	
Recurrent	960.00	4 Semesters	3,840.00	
Takaful	500.00	2 Years	1,000.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			67,480.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EzPAY PORTAL







KULLIYYAH OF PHARMACY (KOP) – COSMETIC SCIENCE

PROGRAM NATIONALITY DURATION INTAKE : MASTER OF COSMETIC SCIENCE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (MIX-MODE)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition (Coursework)	750.00	14 Credit Hours	10,500.00	
Tuition (Research)	12,750.00	2 Semesters	25,500.00	
Recurrent	960.00	4 Semesters	3,840.00	
Bench Fee	1,500.00	2 Semesters	3,000.00	
Takaful	500.00	2 Years	1,000.00	
Evaluation Fee	2,200.00	One-time Fee	2,200.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			47,780.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF PHARMACY (KOP) – OTHERS

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition (Coursework)	600.00	2 Credit Hours	1,200.00	
Tuition (Research)	SCOUNT 6,000.00	4 Semesters	24,000.00	
Recurrent	960.00	4 Semesters	3,840.00	
Bench Fee	1,500.00	4 Semesters	6,000.00	
Takaful	500.00	2 Years	1,000.00	
Evaluation Fee	2,200.00	One-time Fee	2,200.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			39,980.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF ALLIED HEALTH SCIENCES (KAHS)

PROGRAM NATIONALITY DURATION INTAKE : MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition (Coursework)	480.00	To Be Determined	-	
Tuition (Research)	4,800.00	4 Semesters	19,200.00	
Recurrent	360.00	4 Semesters	1,440.00	
Bench Fee	1,200.00	4 Semesters	4,800.00	
Takaful	400.00	2 Years	800.00	
Evaluation Fee	1,000.00	One-time Fee	1,000.00	
Graduation	200.00	One-time Fee	200.00	
TOTAL			28,930.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF NURSING (KON) – ADVANCE NURSING (CRITICAL, RENAL & EMERGENCY CARE)

PROGRAM : MASTER OF ADVANCE NURSING (CRITICAL, RENAL

& EMERGENCY CARE)

NATIONALITY : INTERNATIONAL & PERMANENT RESIDENT

DURATION : 2 YEARS (4 SEMESTERS)

INTAKE : SEMESTER 1, 2024/2025 ONWARDS

FULL TIME (MIX-MODE)

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Per Semester	Duration	Total Fees
		(Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	One-time Fee	1,490.00
Tuition (Coursework)	750.00	36 Credit Hours	27,000.00
Tuition (Research)	7,267.50	2 Semesters	14,535.00
Recurrent	960.00	4 Semesters	3,840.00
Bench Fee	1,500.00	2 Semesters	3,000.00
Takaful	500.00	2 Years	1,000.00
Evaluation Fee	2,200.00	One-time Fee	2,200.00
Graduation	250.00	One-time Fee	250.00
TOTAL			53,315.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EzPAY PORTAL







KULLIYYAH OF NURSING (KON) – OTHERS

PROGRAM NATIONALITY DURATION INTAKE : MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition (Coursework)	600.00	To Be Determined	-	
Tuition (Research)	4,800.00	4 Semesters	19,200.00	
Recurrent	960.00	4 Semesters	3,840.00	
Bench Fee	1,500.00	4 Semesters	6,000.00	
Takaful	500.00	2 Years	1,000.00	
Evaluation Fee	2,200.00	One-time Fee	2,200.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			33,980.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF SCIENCE (KOS)

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH)

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Per Semester	Duration	Total Fees
		(Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	One-time Fee	1,490.00
Tuition (Coursework)	480.00	To Be Determined	-
Tuition (Research)	4,800.00	4 Semesters	19,200.00
Recurrent	960.00	4 Semesters	3,840.00
Bench Fee	1,200.00	4 Semesters	4,800.00
Takaful	500.00	2 Years	1,000.00
Evaluation Fee	2,200.00	One-time Fee	2,200.00
Graduation	250.00	One-time Fee	250.00
TOTAL			32,780.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. in the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF DENTISTRY (KOD) – MDENT

PROGRAM NATIONALITY DURATION INTAKE : MASTER OF DENTISTRY (MDENT)

: INTERNATIONAL & PERMANENT RESIDENT

: 1 YEAR (2 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (COURSEWORK)

Type of Fees	MALAYSIA RINGGIT (MYR)		
	Duration	Total Fees	
Entrance	One-time Fee	1,490.00	
Tuition	2 Semesters	101,000.00	
Recurrent	2 Semesters	1,920.00	
Takaful	1 Year	500.00	
Graduation	One-time Fee	250.00	
TOTAL		105,160.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EzPAY PORTAL







KULLIYYAH OF DENTISTRY (KOD) – OTHERS

PROGRAM NATIONALITY DURATION INTAKE : MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition (Coursework)	840.00	To Be Determined	-	
Tuition (Research)	SCOUNT 6,000.00	4 Semesters	24,000.00	
Recurrent	960.00	4 Semesters	3,840.00	
Bench Fee	1,500.00	4 Semesters	6,000.00	
Takaful	500.00	2 Years	1,000.00	
Evaluation Fee	2,200.00	One-time Fee	2,200.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			38,780.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







KULLIYYAH OF MEDICINE (KOM) – CLINICAL SPECIALIST TRAINING

PROGRAM NATIONALITY DURATION INTAKE : MASTER DEGREE (CLINICAL SPECIALIST TRAINING)

: INTERNATIONAL & PERMANENT RESIDENT

: 4 YEARS (8 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Per Semester	Duration	Total Fees
		(Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	One-time Fee	1,490.00
Tuition	25,000.00	8 Semesters	200,000.00
Recurrent	960.00	8 Semesters	7,680.00
Takaful	500.00	4 Years	2,000.00
Evaluation Fee	2,200.00	One-time Fee	2,200.00
Graduation	250.00	One-time Fee	250.00
TOTAL			213,620.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EzPAY PORTAL







KULLIYYAH OF MEDICINE (KOM) – OTHERS

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH AND MIXED-MODE)

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Research	Mixed Mode	
	(Actual credit hours to be determined by Kulliyyah)	28 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	1,490.00	
Tuition (Coursework)	AFTER 20	23,520.00	
Tuition (Research)	DISCOUNT 19,200.00	DISCOUNT 9,600.00	
Recurrent	3,840.00	3,840.00	
Bench Fee	6,000.00	3,000.00	
Takaful	1,000.00 1,000.00		
Evaluation Fee	2,200.00 2,200.00		
Graduation	250.00	250.00	
TOTAL	33,980.00	44,900.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,412.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







IIUM INSTITUTE OF ISLAMIC BANKING AND FINANCE (IIIBF)

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (COURSEWORK)

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Per Semester	Duration	Total Fees
		(Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	One-time Fee	1,490.00
Tuition	625.00	42 Credit Hours	26,250.00
Recurrent	960.00	4 Semesters	3,840.00
Takaful	500.00	2 Years	1,000.00
Graduation	250.00	One-time Fee	250.00
TOTAL			32,830.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EzPAY PORTAL







INTERNATIONAL INSTITUTE OF ISLAMIC THOUGHT AND CIVILISATION (ISTAC)

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH AND MIXED-MODE)

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Research	Mixed Mode	
	(Actual credit hours to be determined by Kulliyyah)	21 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	1,490.00	
Tuition (Coursework)	-	9,450.00	
Tuition (Research)	18,000.00	9,000.00	
Recurrent	3,840.00	3,840.00	
Takaful	1,000.00	1,000.00	
Evaluation Fee	2,200.00	2,200.00	
Graduation	250.00	250.00	
TOTAL	26,780.00	27,230.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EzPAY PORTAL







IIUM INSTITUTE FOR HALAL RESEARCH AND TRAINING (INHART) – MSHIS

PROGRAM NATIONALITY DURATION INTAKE : MASTER IN HALAL INDUSTRY SCIENCE (MSHIS) : INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH)

	MALAYSIA RINGGIT (MYR)			
Type of Fees	Per Semester	Duration	Total Fees	
		(Actual credit hours to be determined by Kulliyyah)		
Entrance	1,490.00	One-time Fee	1,490.00	
Tuition (Coursework)	675.00	To Be Determined	-	
Tuition (Research)	5,700.00	4 Semesters	22,800.00	
Recurrent	960.00	4 Semesters	3,840.00	
Bench Fee	1,000.00	4 Semesters	4,000.00	
Takaful	500.00	2 Years	1,000.00	
Evaluation Fee	2,200.00	One-time Fee	2,200.00	
Graduation	250.00	One-time Fee	250.00	
TOTAL			35,580.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







IIUM INSTITUTE FOR HALAL RESEARCH AND TRAINING (INHART) – MAHIM

PROGRAM
NATIONALITY
DURATION
INTAKE

: MASTER OF HALAL INDUSTRY MANAGEMENT (MAHIM) : INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH AND MIXED-MODE)

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Research	Mixed Mode	
	(Actual credit hours to be determined by Kulliyyah)	21 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	1,490.00	
Tuition (Coursework)	-	9,450.00	
Tuition (Research)	18,000.00	9,000.00	
Recurrent	3,840.00	3,840.00	
Takaful	1,000.00	1,000.00	
Evaluation Fee	2,200.00	2,200.00	
Graduation	250.00	250.00	
TOTAL	26,780.00	27,230.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







SEJAHTERA CENTRE FOR SUSTAINABILITY AND HUMANITY (SCASH)

PROGRAM NATIONALITY DURATION INTAKE : MASTER IN SUSTAINABILITY SCIENCE : INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

FULL TIME (RESEARCH AND MIXED-MODE)

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Research	Mixed Mode	
	9 Credit Hours (Actual credit hours to be determined by Kulliyyah)	18 Credit Hours + 2 Sem. Research (Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	1,490.00	
Tuition (Coursework)	3,240.00	6,480.00	
Tuition (Research)	18,000.00	7,200.00	
Recurrent	3,840.00	3,840.00	
Takaful	1,000.00	1,000.00	
Evaluation Fee	2,200.00	2,200.00	
Graduation	250.00	250.00	
TOTAL	30,020.00	22,460.00	

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. Total fees above are approximations and serve only as a general guide. The Tuition Fee per semester is according to the credit hours and research registered.
- 4. Extension of Study Period: The standard rate of Tuition Fee will be charged.
- 5. Registration of Comprehensive Examination: An additional RM200 will be charged to the Tuition Fee.
- 6. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 7. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund
- 8. Graduation Fee of RM 250.00 is compulsory to be paid when students have graduated.

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL







PRE-SESSIONAL (CELPAD)

PROGRAM NATIONALITY DURATION INTAKE

: MASTER DEGREE

: INTERNATIONAL & PERMANENT RESIDENT

: 2 YEARS (4 SEMESTERS)

: **SEMESTER 1, 2024/2025 ONWARDS**

	MALAYSIA RINGGIT (MYR)		
Type of Fees	Per Semester	Duration	Total Fees
"		(Actual credit hours to be determined by Kulliyyah)	
Entrance	1,490.00	One-time Fee	1,490.00
Tuition	3,300.00	4 Semesters	13,200.00
Recurrent	960.00	4 Semesters	3,840.00
Takaful	500.00	2 Years	1,000.00
TOTAL			19,530.00

(IIUM reserves the right to revise the Semester fees without prior notification)

IMPORTANT NOTES

- 1. Students are required to pay the semester fees at least two (2) months after semester begin.
- 2. The entrance Fee is non-refundable.
- 3. The Mahallah Fee is RM2,262.50 per semester (standard room) depending on the room availability.
- 4. In the event of withdrawal or study leave, the Tuition Fee and Related Fees paid will be refunded as follows:
 - ❖ From the first day up to the first month. 90% Refund
 - ❖ From the first month up to the second month. 60% Refund
 - ❖ After the second month of the semester. No Refund

PLEASE PAY ONLINE USING IIUM EZPAY PORTAL





IIUM ELECTRONIC PAYMENT SYSTEM

ezpay.iium.edu.my/